
Reservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MM

1



Reservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MM

2

Nr. Reservedelsnr. Navn

1 317523-4 LEJESKJOLD (9032)

2 265999-8 SKRUE M4X25###(266374-1)

3 153308-2 HUS KOMPLET

4 257249-5 RING 9 (9032)

5 253807-5 UNDERLAGSSKIVE 5

6 265494-8 SKRUE M5x13 (9032)

7 272229-0 JUSTERKNAP (3901)

8 961014-3 SIKRINGSSKIVE

9 265090-2 SKRUE M4x20 (9032)

10 941052-1 UNDERLAGSSKIVE 4

11 265751-4 SKRUE M5x13 (9032)

12 253807-5 UNDERLAGSSKIVE 5

13 421198-4 KAPPE (4103DW)

14 317522-6 DRIVHJUL (9032)

15 265092-8 SKRUE M5x12 (9032)

16 345196-3 BESKYTTELSESKÆRM (9032)

17 266026-4 SKRUE M4x12 (5703R)

18 345197-1 ARM (9032)

19 265028-7 SKRUE M4x11

20 233333-0 FJEDER 10 (9032)

21 317525-0 HOLDER (9032)

22 265040-7 SKRUE M3x4 (9032)

23 153314-7 FØRINGSSKO 9 (9032)

24 153310-5 ARM 9 KPL. (9032)

25 233332-2 FJEDER 6 (9032)

26 153312-1 FØRINGSARM (9032)

27 232185-6 BLADFJEDER

28 922111-0 INNENSECHSKANTSCHRAUBE M4x10

29 911138-5 SKRUE M4x20

30 345195-5 AFDÆKINING (9032)

31 265040-7 SKRUE M3x4 (9032)

32 153314-7 FØRINGSSKO 9 (9032)

33 665394-6 LEDNING

34 682502-4 KABELBESKYTTER 8-85

35 687052-4 KABELKLEMMEPLADE (4100NB)

36 265995-6 BLIKSKRUE 4x18###(266326-2)

37 631677-6 CONTROLLER

38 645209-3 KONDENSATOR 645209-3

39 651263-7 AFBRYDER

40 415635-8 DÆKSEL FOR GREB

41 265995-6 BLIKSKRUE 4x18###(266326-2)

42 853483-1 TYPENSCHILD 9032

43 191940-4 KULSÆT CB-411

44 643550-8 KULDÆKSEL 5-8

45 819063-3 MAKITA KLÆBEMÆRKE

46 159747-4 MOTORHUS KOMPLET 9031

47 599347-2 FELT (9032)

48 266052-3 BLIKSKRUE

49 415634-0 FELTAFDÆKNING



Reservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MMReservedelstegning for 9032 - ELEKTROFIL 9 X 533 MM

3

50 210023-2 KUGLELEJE 627DDW

51 681614-0 ISOLERINGSSKIVE (NHP1300S)

52 517389-4 ANKER (9032)

53 241884-9 FAN 60

54 210005-4 RILLEKUGLELEJE (HR4000C)


